| Item | Description | Quantity | Unit | Rate | Amount |
|--------|--|----------|------|---------|-----------|
| * | S100 Preliminaries | | | | |
| * | <u>Preliminaries</u> | | | | |
| 100.01 | Erection of stores and workshops for contractor | 1 | Item | £246.24 | £246.24 |
| 100.02 | Servicing of stores and workshops for contractor | 1 | Item | £692.20 | £692.20 |
| 100.03 | Dismantling of stores and workshops for contractor | 1 | Item | £246.24 | £246.24 |
| | | <u> </u> | | | £1,184.68 |

| Item | Description | Quantity | Unit | Rate | Amount |
|--------|---|----------|------|------------|-----------|
| * | S200 Site Clearance | | | | |
| * | Site clearance [non S/lighting] | | | | |
| 200.01 | General site clearance of scrub and vegetation inc chipping and removal to tip off site | 0.05 | ha | £41,614.08 | £2,080.70 |
| 200.02 | Take up existing Timber Planter Box and remove to tip off site | 20 | No. | £26.00 | £520.00 |
| 200.03 | Take up existing Concrete Planter Box and remove to tip off site | 11 | No. | £47.29 | £520.19 |
| 200.04 | Take up or down 100mm precast concrete slabs or blocks and remove to tip off site | 26 | m² | £40.01 | £1,040.26 |
| 200.05 | Take up or down geogrid and remove to tip off site | 42 | m² | £6.19 | £259.98 |
| 200.06 | Take up or down and set aside for re-use existing post and wire fence | 36 | m | £50.57 | £1,820.52 |
| | | | | | £6,241.65 |

| Item | Description | Quantity | Unit | Rate | Amount |
|--------|--|----------|------|--------|---------|
| * | S300 Fencing | | | | |
| * | <u>Fence</u> | | | | |
| 300.01 | Take up from store and fix the post and wire fence | 36 | m | £24.54 | £883.44 |
| | | | | | |
| | | | | | £883.44 |

| Item | Description | Quantity | Unit | Rate | Amount |
|--------|---|----------|------|---------|---------|
| * | S500 Drainage | | | | |
| * | <u>Raise / Lower / Reinstall</u> | | | | |
| | Raise or lower the following by 150mm or less | | | | |
| 500.01 | Raise the level of SL control box and frame on brick chamber | 1 | No. | £161.44 | £161.44 |
| | | | | | |
| | | | | | £161.44 |

| Item | Description | Quantity | Unit | Rate | Amount |
|--------|--|----------|------|--------|-----------|
| * | S600 Earthworks | | | | |
| * | <u>Earthworks</u> | | | | |
| 600.01 | Excavate unsuitable material U1 and dispose off site | 111 | m³ | £81.90 | £9,090.90 |
| | | | | | |
| | | <u>.</u> | | | £9,090.90 |

| Item | Description | Quantity | Unit | Rate | Amount |
|--------|---------------------------------------|----------|----------------|--------|------------|
| * | S700 Pavements | | | | |
| * | <u>Sub-base</u> | | | | |
| 700.01 | Recycled type 1 sub-base | 76 | m ³ | £66.56 | £5,058.56 |
| * | <u>Binder course</u> | | | | |
| 700.02 | AC20 binder course 40mm thick | 504 | m² | £18.55 | £9,349.20 |
| * | Surface course | | | | |
| 700.03 | Taycoat SMA 10mm aggregate 30mm thick | 504 | m² | £16.24 | £8,184.96 |
| * | Bond / Tack coat | | | | |
| 700.04 | Bituminous emulsion Bond coat | 504 | m² | £1.06 | £534.24 |
| | 1 | | | | £23,126.96 |

| Item | Description | Quantity | Unit | Rate | Amount |
|---------|--|----------|------|--------|-----------|
| * | S3000 Landscape and Ecology | | | | |
| | Final preparation of soils to surfaces sloping at 10 degrees or less to the horizontal | 360 | m² | £1.75 | £630.00 |
| 3000.02 | Topsoiling to surfaces sloping at 10 deg or less to horizontal | 95 | m³ | £70.88 | £6,733.60 |
| 3000.03 | Grass seeding to verges | 360 | m² | £1.48 | £532.80 |
| | | | | | |
| | £7,896.40 | | | | |

| Item | Description | Quantity | Unit | Rate | Amount |
|------|-----------------------------|----------|------|------------|------------|
| | Bill Summary | | | | |
| | S100 Preliminaries | 1 | ltem | £1,184.68 | £1,184.68 |
| | S200 Site Clearance | 1 | ltem | £6,241.65 | £6,241.65 |
| | S300 Fencing | 1 | ltem | £883.44 | £883.44 |
| | S500 Drainage | 1 | Item | £161.44 | £161.44 |
| | S600 Earthworks | 1 | ltem | £9,090.90 | £9,090.90 |
| | S700 Pavements | 1 | ltem | £23,126.96 | £23,126.96 |
| | S3000 Landscape and Ecology | 1 | ltem | £7,896.40 | £7,896.40 |
| | Total to Summary | | | | £48,585.47 |